Strongman ERERE
ETEEERFRF(KREREESEYNRE )
sSvVvQ25, 35, 45% 7%
| Radis
1. SHHEE. KRSH3N, EROBE,
RERDIES BB PR R
TEREBRSRERER.
ouT 2, MMBHIBLEE, STIRNEE, TR
CECH
3. WABNBE, RSISE, HAES
IN
W 2 5% i BB
sSvQ 25 -26 -F -R -L -R
REIRIE & wEANX | RESARBIES) | LB05E | EB0sY
. miER. O | \ER. ar
@Eﬁi% 28 FoORR R EESSE | 0. B D: BT
i BER | L HER L. ESStE | R: @B R: BGUEE)
HRE) L BEES | L. 8%
W EERR
A5 BSEREN 2 B EFFEIRmIn EEKg
Mpa ml/rev =RIE RB EEE 0 B BY
SVQ25-18 18
SvQ25-22 22
SVQ25-26 26.2
SVQ25-32 24.5 32.1 1800
SVQ25-38 38.2
600 17 19
SVvQ25-43 43.2
SvQ25-52 52.3
SVQ25-60 60.2
21.0 1500
SVQ25-65 65.3
SVQ25-75 17.5 75 1200
SVQ35-60 60.3
SVQ35-66 66.4
SVQ35-76 76.3 1800
SVQ35-82 21.0 82.3
SVQ35-88 88.3 600 34 42
SVQ35-94 94.5
1500
SVQ35-108 108.2
SVQ35-116 116.1
17.5 1200
SVQ35-125 124.6
SVQ45-136 136
SVQ45-156 156 1500
SVQ45-189 17.5 189 600 52 60
SVQ45-216 216
1200
SVQ45-237 237
WEE: SRERS, AHABREZFEASKMEEE (W: 1200rpm)

A-053



EEBEHF Strongman

W M BE R mistied. (mE68cst, ISOVGHSH, #iE40C)

ERTEERT, ¥6E20cstbFaYRE( /min)
RSk 1000rpm. [&& 7 Mpa 1200rpm. [& JJMpa 1500rpm. [& 7JMpa 1800rpm. [& 7JMpa
0 7 14 21 0 7 14 21 0 7 14 21 0 7 14 21
SVQ25-18 18.1 18 | 171 | 165 | 217 | 2156 | 205 | 19.8 | 27.2 27 | 256 | 248 | 342 | 325 308 | 298
SVQ25-22 221 21 19.8 | 188 | 2655 | 247 | 234 | 226 | 324 | 307 | 29.1 | 282 | 389 37 35 | 339
SVQ25-26 262 | 247 | 234 | 226 | 31.2| 296 28 | 27.1 39 37 | 35.1 34 | 468 | 445 | 421 | 407
SVQ25-32 321 | 30.8 | 29.1 | 281 | 384 | 369 35 | 338 48 | 46.1 | 437 | 422| 576 | 553 | 524 | 507
SVQ25-38 382 | 365 346 | 334 | 456 | 438 | 415 40.1 57 | 547 | 519 | 50.1| 684 | 657 | 623 | 60.2
SVQ25-43 432 | 413 | 391 | 378 | 51.6 | 495 47 | 454 | 645 62 | 587 | 56.8 | 774 | 743 | 704 | 68.1
SVQ25-52 523 | 49.9 | 473 | 458 | 624 | 60 56.8 55 78 | 74.9 71 68.9 | 936 | 899 | 852 | 824
SVQ25-60 60.2 | 576 | 546 | 52.8 72 | 69.1 | 655 | 634 9 | 86.4 82 | 79.2 - - - -
SVQ25-65 65.3 | 624 | 592 | 57.2 78 | 745 71 68.6 | 975 | 936 | 88.7 | 858 - - - -
SVQ25-70 75 | 74.9 71 68.6 | 90.6 | 89.9 | 852 | 824 - - - - - - - -
SVQ35-60 60.3 | 576 | 56.1 | 542 | 723 | 69.1 | 67.3 65 | 90.4 | 864 | 842 | 81.3] 1085 103.7| 101 | 976
SVQ35-66 66.4 | 628 | 602 | 582 796 | 754 | 722 | 69.8| 976 | 942 | 903 | 87.3 | 119.5| 113 | 108.4 | 104.8
SVQ35-76 763 | 749 | 718 | 69.3| 915 | 89.9 | 862 | 83.1| 114.7| 1124 | 107.7| 104 | 137.3| 134.8 | 129.2| 124.7
SVQ35-82 82.3 79 | 75.7| 733 | 986 | 948 | 908 88 | 123.3| 1185 | 1136 | 110 | 147.2| 142.2| 136.3| 132
SVQ35-88 88.3 | 84.5 81 78.3 | 1059 101.4| 97.2 94 | 132.4| 126.6 | 121.5| 117.5] 158.9 | 152.1 | 1455 141
SVQ35-94 945 | 90.3 | 865 | 837 | 113.4| 108.4| 103.8 | 100.5| 141.7 | 135.5| 129.8 | 125.6 - - - -
SVQ35-108 108.2| 103.7| 994 | 96.1 | 129.8 | 124.4| 119.3 | 1153 | 162.3| 155.6 | 149.1 | 144.2 - - - -
SVQ35-116 116.1 | 111.4[ 107.3| 103.9| 139.8| 133.7 | 128.8| 124.7 - - - - - - - -
SVQ35-125 124.6 | 118.7 | 113.8| 110.1 | 149.5| 142.4 | 136.6 | 132.1 - - - - - - - -
SVQ45-136 136 | 130.6 | 125.1 | 119.7| 163.2| 1567 | 150.1| 143.6| 204 | 195.8 | 187.7 | 179.5 - - - -
SVQ45-156 156 | 149.8 | 1435 137.3| 187.2| 179.7| 172.2| 164.7| 234 | 224.6 | 2153 | 205.9 - - - -
SVQ45-189 189 | 181.4 | 173.9| 166.3| 226.8 | 217.7| 208.7 | 199.6 | 283.5| 272.2 | 260.8 | 249.5 - - - -
SVQ45-216 216 | 207.4| 198.7| 190.1| 259.2 | 2488 | 238.5| 228.1 - - - - - - - -
SVQ45-237 237 | 227.5| 218 | 208.6 | 284.4| o273 | 261.6| 250.3 - - - - - - - -
B R~
svaz2s
218 161 46 50.5
181 3
®©38.9ANi#H A o g | e
78.5 ©24. 9w A |18 g les
s e | !
a2
4-M12X1.75P 4-M10X1.5P \ e
- BN [Te)
=) o
© \ 31.5
6.350 oz N %\ 4
a : AN g
_ 2l o3| L] ‘ N
\ 8| [e:] g [aV]
e
? 46.5
2-017.5 ©150 26.2
\/ [
60
277

A-054



Strongman ERERE

B R~
sSVQ3s5 Hih O ©30
A0 ®53.5 21
R13 9
R11 .
| |
©65 9
~
&
o = I
3 W JIE—1 §
o7l 4 .
\ L 40
42.9
30.2
1802
4-M12X1.75PiF19 4-M10X1.5PF19
282 es| 2 213
WP
90 112 ~y 181
p
75 e(‘f’)
| | 1T T |
\ \ T 63
j 46 o R16 D148
(o))
S ‘ ‘ 2 N
© oo — ©
~ _ S ML ©
= N 2
_L )
2-017.5{@7
D26iR1
SVvVQ45
4-M16X2.0PiE19 —
ANBOD75 61.9 35.7 [
- sl 8
< - E §
ﬁ: \ mr—t— O
< I
= J | 1
il
+, v o
/ >
~ ©
—’i
Him O 038 =
4-M12X1.75P3R19 — 973
390 228.6
166.5 131
50 81
‘ 1 F I | [ —\
[ ] [ ] = .89 3
[ [ 29 o
© 50 9 2
- Y]
L < 0
[ee] . ° ©
& - - — i =) _|_ =
! (9] [aV)
Y]
3 5 \
—’i
Ji
N
12.7
4-022iF7F
D39 FLIR

A-055



	页 53
	页 54
	页 55

